Direction it opens: Claht

Vertex: (O , % )

Value of p: _ % 3

Axis of Symmetry: U\ = %
Focus: ( 3 ':}: )
Jirectrix: W ~ 3

Algebra 2 Worksheet Name: \Jtu}j
Section 10.5 - Parabolas DAY ONE Period
1. Find the requested information for each parabola. Then graph.
1. (x+2) =8y )
g gy W
Direction it opens LLP
Vertex: ( ,_ O )
Value of p: _ T 2%
Axis of Symmetry: XA = —dJ
Focus: (—& , 2 )
Directrix: Kj = =&
2. (y-4) =12x B C"’
(y=1)" = dp (x=W) >

3. (x-2) =-16(y+1) A~
W) = wp Ly-i) L0
Direction it opens: O\OW V1
Vertex: (_L , — 1)
Value of p: _— M

Axis of Symmetry: W = L
Focus: (_ L , =95)
Directrix: U\ = 3
B ly=2) = -g (v +a) E
(,U:D'-k,)L = ur?(v\-\r\)
Direction it opens: le &4

Vertex: {_ =3, —2)

Value of p: =)

Axis of Symmetry: %_ = _—&
Focust { =+, —2 )

Directrix: A = =2




IT. Find the requested information. Then use it to write the parabola’s equation in standard form.

5

PR T

Direction it opens:
Vertex: ( =g, D
Value of p: * 3
Axis of Symmetry: X =
Focus: ("3, 3 )
Directrix: Y = —3

Equation in S‘I'?JJndard Form:
X +3)* = 12y
J

Direction it opens: ___1€ ¥
Vertex: (_O , b )
Valueof p: _— 5
Axis of Symmetry: V) = o
Focus: (=5 , b )
Direcirix: Y = 5
Equation in Standard Form:

y = L)" = -20 ¥

ITI.

Find the standard form of each parabola by completing the square.

7. v -8y-2x+16=0

‘ji - 8\3

= ax =1\

(W-4)" = ax

Equation in Standard Form:

(L[r*\)l =¥

8. x*+14x—-12y+97=0
VS P :\’?-U'l'_ﬂ'_q_—'
(x+3)* = \2_3.. Ty

(x+3)* = 2! 5-%)

Equation in Standard Form:

(x+3)™ =valy-v)




